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Time : 3 hours . Max. Marks : 180 - At 3 _ ﬁaﬂtzlso
Instructions for candidates:- fteet gorfest:
1. This exam is in two parts. 1. feoutfmaaarfead
2. Part;l is related to Mental Ability Tést. 2. ufgsramar ﬁma‘fwﬁﬁ'd?a'l
3. Part-Iirelates to Scholastic Aptitude Test. It consists 3, g I e‘rﬁmgrmﬁﬁu-gaqfenfg-q
of ten subjects, details of which are given below:- gﬁhﬁaﬁw?w%w}
i) Physics i)  Chemistry ) Staafefomrs @) amfesfefrs
iif} = Biology . iv)  Geography i) sefefamrs  iv) 95
v) History vi) Civics v) fefgom vi) srarfea g
yii) Maths viii) English - vil) o= viti) R
ix) Punjabi x)  Hindi x) Gt x) et
4.

Each question carries one mark. All questions are

compulsoty. 4. TIfeFymserfeaerd imd yus agdt 751

'S ‘mmm@m%mﬁm_al
for this question paper. Darken the correct option of €39 Hie (€ Wi wra) fa? 1{93 € it €39 [
each question in the answer sheet (OMR) with mm frrdft sv& 3gd wan G

black/blue ink. . ' 6. FgranfeRaEtwetat Iaeard
Rough Woﬂc may be done on the blank space 5 mmmmm(mmﬁmw

You have been provided with a answer sheet (OMR)

_ provnded. 3
'I'herelsnonegative marking in this question paper. 5 €39 T (6 W wr) Qg Teie TFBQ? &@t

Do not use white fluid on OMR Answer Sheet. TP TFRI
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National Means-Cum-Merit Scholarship Examination 2017
- SuEs-Hisg-an-nige rarsafay yifunr 2017

faow (s 13) 3 fd ymst fewoiat S maft feeht
aret &, fawr fe'e et evwrurlt AT 3 19at gt gos Bet

Mental Ability

Directions'(Q. 1-3) There is a number seﬁes following a
pattern. One place is [eft blank Find the correct answer

from the options. © . }
I 240,48,12,4, oo fe3 a2 v femeut fTort @ aa g2
1.5 2. 4 1. 240,48,12,4, ...
3.3 4.2 1.5 2. 4
3.3 4.2
2. 3,7,1531,63, e _ ' S
1. 126 2 127 2' ::!7;2129313635 ............... 2 127
3. 128 4. 129 : 2. 12
~ 3. 128 4. 129
3. 445,444,492,439, 4357 3. 445,444,442,439,435?
- 421, 2. 418 1. 27 2. 418
3. 430 4. 425 3. 430 4 425

Directions - Find the odd term in questions (4-6).

3. 81

fasew - (yus 4-6) fee fas feasu et azaq)

4. 1. Mother 2. Father 4, 1. W3 2. fuzr
3. Friend 4. Brother 3. T 4. FI
50 134,13 2. 5,6,31 5. 134,13 2. 5,6,31
3. 6,7,44 4. 8,9,73 3. 6,7,44 4.8,9,73 -
6. 1. JANUARY 2. MARCH 6. 1. wswdt 2. Heg
3. APRIL 4. MAY 3. wiw 4. Wet
Directions - Find the missing term in questions (7-10) fsgew (yEs 7-10/ ¥ TuEt res 33
| 7. .
7 22|23 24 22|23 | 24
333254 33 | 32 | 54
43 | 42 43 | 42
1. 96 2. 72 1. 96 2.72
3.76 4. 86 3. 76 4. 86
1 36 _ 2. 25 1. 36 “ 2. 25
4. 40 3. 81 | 4. 40



E -

9. 5 9 8
7— t -4 8— i —4 99— 4
3 3 3

L1z 2. 15

3. 18 4.14 -
0. 21 31 39 46 16>/83_
52 85 | ?
o2 2™
3. 62 49

11. - Amanalways has~
1. Tail 2. Heart
3. Horns ' 4. Wings

Directions (Q. 12-13) According to specific pattern fill
the blank spaces of letter series in following questions

12. be b c b cch '
1. cbbe 2. bebe
3. chch o 4. bhch

I3. aa___ ab aaa__ a
1. aaab 2. aabb

3. abab - ) _4. baaa

14.  According to dictionary order which word will come

first?
1. Cloud 2. Middle
3. Rain 4, Chain

15. Arrange the given words in alphabetical order and
choose the word that comes in the third place.

1. North 2. Nemises
3. Never 4. Narcotic

16. The position of how many digits in the number series
321465987 will remain same when the digits are

arranged in the ascending order.
1.3 ’ 2.2

3.1 . . 4.4

9, 9
8 4 9 4
3 3
112 215
3. 18 4. 14
10. 21 31 39 46 16>/83
52 85 ?
1, 92 2 m
3.62 4. 99
11. " feafomdtasoiardery -
1. ¥& - 2 few
3. fier 4. Iy(y9)

feadw- (yEs 12-13) A5t faIut ardhort wive Sftort
fETurat 8'vht arehort ot faafes gudvrwgna e

12. be b c__ b b
1. cbbe " 2. bebe
3. cbeh " 4. bbecb
13. aa ab aaa___ a
. 1. aaab 2. aabb

3. abab 4, baaa

14. I BEEAT »gAd faosr gue v T ufgst
nrEaT? :
1. Clond
3. Rain

2. Middle
4. Chain

15. ' Huet § <amreT & D iEHT 93 w3 G Fue

oA fAoer A mes anrderd
1. North ' 2. Nemises
4. Narcotic

3. Never

16. AEgAtEtBF32146598 7 FwmtT eIy
&9 feforr a3 3t f43 | wuat gt =t
qosEan
1.3 2.2
31 4, 4



Direction - Which of the following four diagrams will
show the relationship among items in questions (17-
18). ‘

09O ¥
W @ & @@

" 17. Food, Vegetable, Carrot
18. Elephant, Spoon, Animal

19. If water is called food, food is called fruit, fruit is
called earth, earth is called sky, sky is called wall.
Then where will we grow free?

1. Sky 2. Earth
3. “Wall 4, Food

20. Six personsA, B, C,D,E,F are standing ina circie B
is between D & C. A is between E and C. Who is
between A and F. Ifall are pointing towards centre.

1. B ' 2. C
D . 4. E

Directions (Q. 21-23) In the given figure rectangle
represents wheat, square represent gram, circle
represent maize and triangle represent rice. Answer
questions (21-23)

~N—
21. Whicharea is cultivated by all the four crops?
1. 7 2. 8 )

3.9 4

22. Whichareais cultivated by rice only?
1. 4 2.7
3.9 4.1

23. Whichareais cultivated by wheat & maize only?
1.5 2.4
3.6 4 8 -

fagdw - o3 o gre f'gat ¥9 foar fe'sT yus
(17-18) f'g Tt actart amgont Feam@er 3|

9O ¥
) @ ® @

17. 39, A9HT,aHT
18. THT, M, AE<T

19. ﬁﬂ?@ﬁ‘?ﬂﬁ,?ﬂﬁ’é‘ﬂ&',ﬁé‘ﬂﬂ?‘?,ﬂ@ﬁ'
naw, WaH § feed faar wre 3t wit eong faw
Gar=ian?

1. MiaH 2. gadt
3, feew 4. V&

20. & fowadt A, B, C,D,E, F feq dag ffoyd 98|
B, DI C¥fEFIaadI A EnZ Cefegaedat
A WT F & fdaag d J<dr dad A9 fen@at
FeITEITIT
1.B . 2.C
3.D 4. E
fseam (21-23) f&'d a® fo'ze fa'e wfes- ,
WA-88, Taa-Wa »3 fagw-ves § san@d
75 Ife'ga 3 mrrfogymst @ Qgafeq)

<10~

11

21. Tenstfagd i3 e Qareht Abnt 357

1.7 2.8
3.9 4.5

2. faodigefevimea<a@erewidTs?
1. 4 2.7
3.9 4.1

23, faud 439 f&T fiar a=a »3 Wdl Gereba
At In? '
1. 5 : 2. 4
3. 6 4.8



24,

25.

26.

27.

28,

29,

30.

- 31,

32,

Which word cannot be formed from
NATIONAL MEANS

1. SMEANRS 2. MENTION
3. ALMEANS 4. TENSION
If5x9=196, 7x8=225

Then4x7=?

1. 256« 2,121

3. 625 4. 144

" Directions Q. 26-27) Questions are based on figure ‘x’.

(‘x’)
How many triangles are in given figure (‘x")?
1. 12 2. 10
3. 08 4. 04
How niany squares are in figure ‘x’?
1.7 2.2
33 4 4.

If *A’ stands for “+”, B stands for *—*, C stands for “x".
Then the value of

(10C4)A (4C4) B16is?
1. 50 2. 56
3. 40 - 4. 30

If ‘X’ means addition, ‘—’ means division, + means
minus and “+’ means multiplication, then which one
of the alternative is correct?
1. 16+5-10x4+3=9
3 16+5+10x4-3=9

2. 16-5x10+4+3=12
4. 16x5+10+4=19

IfMOTEL =25, SELFISH=49, then MILK=7
1. 81 2. 82 '
316 4. 36

In certain language TAP is coded as SZO, then how is
FREEZE coded? . '

1. EQDFYG 2. ESDFYF
3. GQFDYF 4, EQDDYD

In a certain code HUMIDITY is written as.

UHMIIDTY. How is POLITICS written in that code?
1. SCTIOPLI 2. ILPOITCS
3. CSITPOIL 4. OPLIITCS

24,

25,

BEY¥ NATIONAL MEANS J° faogr mue st
g rfemr AT AgeT?
1. SMEANRS
3. ALMEANS

2. MENTION
4. TENSION

HTT 5x9=196, 7x8=225 It 4x7=1
1. 256 2. 121
3. 625 4. 144

feaaw- (t[ﬁwzs-z'f)mﬁ?a‘x’ Imufaz sl

26,

27.

29.

30.

3L

32,

(‘x")

h%m%fa‘%'a(fx’)fe”afé?ﬂhﬁfqgﬂ*m?
112 2. 10

3. 08 4.°04

fegae fege (x) feefdd zaaraa?

21,7 2.2

3.3 | 4. 4

Ha9 ‘A’TTHIBE ‘+’, BETHIBT ‘' CeTHIBT 'x’

e o

(10C4)A(4C4)B16="2

1. 50 2. 56
3. 40 4. 30

AT ‘X’ T HIBYH AF, -’ O HIBH +’ T HIBY
WG M3 + T HIBE e I2 37 faosT feasy
sl J&am ‘

1. 16+5-10x4+3=9 2. 16-5x10:4+3=12
3. 16+5+10x4-3=9 4. 16x5<10+4=19

#A4T MOTEL =25, SELFISH=49 IS ITMILK =7
1. 81 2. 82
3. 16 4, 36

fad 3T f&'g TAP = &5 SZ0 13t FREEZE & fa®
dgdigr=am? _

1. EQDFYG 2. ESDFYF

3. GQFDYF 4. EQDDYD

fak & f&'e HUMIDITY § UHMIDTY fafionr
war 31 @ &7 99 POLITICS § fa=* fofunr
Arar? . ‘

1. SCTIOPLI
3, CSITPOIL

2. ILPOITCS
4. OPLITCS



33.

. 34,

35.

36.

37.

Arrange the following properly and choosé the proper
combination of sequence from given four options.

(a) District (b)Country
{c) Village (d)State
1. abde 2. cadb
3. bdca 4. dcba

Ais to the south of B and C is to the east of B, In what
direction is A with respect to C?

1. South-West 2. North-East
3. North-West 4. South-East

Baljeét starts towards East from any point K. After
moving 25 metre he turns to his right and moves 10
metre, He again turns to his right and walks 25 metre.
He again turns to his right and moves 25 metre. At
what distance and in which direction is he now from
K?

1. 10 metre, North
3. 15metre North

- 2. atK, starting point
4. 20 metre West

How many 5’s are there in the following number
sequence which are immediately preceded by 4 and
followed by 62

28745632457456134569
l. One 2. Two
3. Three . 4. Four

Pointing towards a Boy Veena said, “He is the son of
only son of my grandfather * How is that boy related
to Veena?

1. Uncle
3. Cousin

2. Brother
4. Father

Direction- Answer the question (38-39).‘

38.

1
23 4
98765
10 11 12 13 14 15 16
25 24 23 22 21 20 19 18 17
26 27 28 29 30 31 32.33 34 35 36

10 11 12 : 16 15 14 :: 26 27 28:7
1. 17 18 19 2.2524 23
3.567 4. 36 35 34

33,

34,

35.

36.

37.

¥5 fefiprt & sla gedly fe€ »3 &3 o 9
fgt &3t (€9 sla Fasig T B AT 98t

(a)fergr )
o fm DY/
1. abdc 2. cadb

3. bdca 4, dcba

ABREusfeeIm3C BRyamfevdiAC
& fw femr feg 7
1. fye-yeH
3. §39-usH

amgﬁﬁﬁ?K?mwmmaazrmzs
mzamgawea»m:énﬁmﬁns#?an@
10 fizg TBar T gBAS fea AR RS AieT I ma
25 Hieg e T feg Qo @ AA R g AT @
nézsmzamﬁlgzﬁaﬁ'ﬂca‘ﬁa‘raa’ré%
nl:%fsrrrhwfa'aa?

1. mmza,g‘aa“
3. 15¥ieq, 39
fors st feaia 5 f&s gt I Rfgg 9, farfes
wia 5 3 ufasT i 4 e JRvd e I ia
6nrgErId
28745632457456134569

1. fex 2.9

3. f35 4. 99

=a ¥ ferar qow e diev 3 faar, “feana emer
A feagdIysTeryaedr QuassardAeTaw
At fagrdyard? .
[

3. HH/TETHST

2. 37w
4. THE-YIq

2. K€39, mifeafags
4, 20T, uan

o 2E
4, fugr

méah%ﬁﬁmﬁnémém(ss—ss)é
e fet

38.

1

234

98765
_ 10 11 12 13 14 15 16
252423 22 21 20 19 18 17
29 30 31 32 33 34 35 36

26 27 28

10 11 12 :16 15 14 :: 26 27 28:7
1.17 18 19 2.2524 23
3.567 4, 36 35 34



39.

40.

o2
3.5 | 4.

3812 :3614 :: 112428 ?
1. 61519 ~ . 2. 151834
3. 91024 4. 112429

In a certain code language ‘617’ means ‘sweet and
hot’, “735’ means ‘coffee ig sweet’ and ‘263’ means
‘tea is hot’. Which digit stands for coffee in that
code?

1. 7 3
2

Directions (Q. 41-42) select the figure which continue

the series.
" 41 QuestionFigure :
O|l@|a|A|r®
A B C D . E .
AnswerFigure .
o] | @ | [a] | [o
1.- 2 3 .4
42. Question Figure
A B . C D E
Answer Figure
1 2 3 4

Directions (Q. 43-44) Find the mirror image (figure A)
43. |

o
L
A

39.

3812 :3614 :: 112428 ? N
1. 61519 2. 151834 |
3. 91024 4. 112429

fan &3 3T €9 *617° & %37 ‘Sweet and hot”,
‘735’ ®F mdd ‘Coffec is sweet’ MJ ‘263’ BT »oq

‘teaishot’d | feRamr fe@ g coffec’o@3TR1 =
1. 7 2.3
35 4".2

{58y - ({mE 41-42) 5 13T saravasr fonl= |

et feasudt S a9

41.

yus fes |
Ol@|a|A|C
A B C D E
CECITE

o] | @ | [&] | [o

w

D

i -

CECICES]

1 2 3 4

faoew (yas 4344) fSe fa'sg A HiE fg dues 2
fag fagrsar

43.

O

el

A



QLO DA_O QA_X le | V\;(; \V\;O Dl_x Q‘Lx

44 44
Ale AN
A A
L ° .' [ ] ° [ () [ » ° ® | e ® [ )
v Sl alll]vil[al: vl Aall v ifal:
1 2 ‘ 3 4 | 1 2 3 4
‘I:)ire;lt:tol;; e(;?'tt 45:!6) “W%ltlii:hﬂan:ewer figure will fsaew - (ym& 4546)@@33%3 m‘h‘ga'
complete atterning n figure. :
45 Question Figure :’“f‘?@maag'aﬁ'waaﬂ'?
A ) . . A s . - - ) .
Answer Figure : ' :
46. QuestionFigure _ 46. yes fase
- A
Answer Figure E _ Q“?u—h"—:ra
N \\ \ | N N \\ A N |
1 2 3 4 1 2 3 4



Directions (Q. 47-48) In each question there is a
specific relations between figures A & B. Establish the
same relationship between C & D select a figure for
figure D from amongst the four options.

47. Question Figure

A B C D
AnswerFigure
1 2 3 4

48. QuestionFigure

A B - C D

Answer Figure
1 2 3 4

‘Directions - Diagram ‘A’ has one dot placed in it, which
figure among four alternative possess similar kind
relation for fixing dot.

49,
'Y
A
~ AnswerFigure
@ GNION

fagom (yas 47-48) It I e ymst fEofagaana
Bfew fea i difdfae cw3 DA G sgter
#iq 311f9'39 D et gt €39 oo feasut (¥ 52|

ﬂf{ ?

A B C D
g3afazg
1 2 3. | 4
48. yEsfoae
A B C D
CECMCEC)
1 - 2 3 4

fradm - fe'gT A feT fe'r et maret ameh 3
faasy ot 9= g3 fan fag fasg A mgwe fa<t
aarre‘mfna-_étal :

-
[Fa)lialENION

e



50.  Find the unlike figure.

51.

52.

53.

54.

55.

56.

57.

58.

A / \/
| ==
M T — '

1 2 | 3 4
PHYSICS
Normal human body temperature is
1. 32°F 2. 100.4°F
3. 212°F 4. 98.6°F

Maximum attraction in a magnet is present at
1. Northpole . 2. Central part
3. Onbeothpoles 4. None ofthese

Sound waves needs

I. Amedium topropagate

2. No medium to propagate

3. Can’tSay o

4. Only solid medium to propagate

‘Instrument used to measure distance travelled by
vehicleis called.

1. Speedometér " 2. Odometer
3. Thermometer 4. None
Humaneyeislikea _

1. Projector 2. Camera

3. Telescope 4. Microscope

Which colour is most scattered due to fog & smoke?
1. Yellow 2. Violet

3. Red 4. Blue

Atmospheric pressure exerted on all objects is

I. 1.8Kg/sq.cm 2. 1.7Kg/sq.cm
3. 1.0Kg/sq.cm 4. 2.0Kg/sq.cm

Commercial unit of Electric Energy is
1. Watt 2. Kilowatt
3. Kilowatthour(KWH) 4. Noneofabove

50. ﬁé;vfeasue‘tﬁa*a%a

5L

52.

53.

54,

55,

. 36.

57.

58.

. 3. e_'uEgers

— | N\ ;—/
1 2 3 4
afsa fefaprs
fEa Iuama sy rdiger s Jer T
1. 32°F : 2. 100.4°F
3. 212°F - 4. 98.6°F

mémmmmmﬂaéﬂﬂﬁ
qfl

1. €3dftug= 2. Hogwarfea
4, gEr &t &dt

Bt gaard v B BEt

1. HfoHr @R BT 3t

2. o & I &d §atd
3. gy Edtraforas

4. g SH M A BT Y

Ji

1. Auithites 2, Gghite

3. gpileT 4, é‘m‘TaaT

Wity far egant I? .

1. {Haed 2. avd Taait
3. 2TImEu =T 4. wfegray=aatt

JgamI GE A fasd darer s @ ne I T der
- [ '

1. utsT 2. ¥HST

3. 38 . 4. BBT

AN I BAIE TH TTIFBI TA Jer |
1. 1.8fgar/eaariist. 2. 17faar/=aarit.
3. 1.0faap/RaarR M. 4. 20fX /=39t

@mu‘uaéfaﬁa‘rgaﬂfe‘rma’ra?
1. T2 2. fad=z
4. A &dr

3. faBereer



39,

60.

61.

62.

63.

65.

- 66.

67.

3. Ca (OH),

- 3. Neutral

Which of following would expand more on heating.

1. CO,. 2. HO,
4. CaCO,

Waves produced by earthquake are known as?
1. Siesmic waves . 2. Shock waves

3. Infrasonic waves 4. None

'Abody is atrest. What is the speed of the body.
1. _'5m/s 2. 10m/s
3. 15m/s 4. Om/s

The force required to produce a pressure of 25000
pascal. When the surface area is 0.50cm’ s.

1. 5/4N 2. 512N
3. 5/2Pa 4. 5/4Pa
CHEMISTRY

Which of the following fiber is non biodegradable in
value?

1. Wool
3. Cotton

2. Silk
4, Nylon

By which physical property of metals like copper
and aluminium is drawn into wires?

i. Ductility 2. Malleability
3. Conductance 4. Sonorous

Oxide of metals are
1. acidic in nature 2. basic in nature

4. acidic and basicboth

Which of the following elements can be drawn into
wires?

1. Suiphur
3, Carbon

2. Phosphorus
4. Iron

Which of the following is inexhaustible Natural
resource?

1. Minerals
3. Natural Gas

2. Cool
-4, Air

10

59,

60.

61.

62.

63.

65.

67.

1. CO, 2. HO,

3. Ca(OH), 4. CaCO, |
: |

gyt ter It St G s afie aa? .

1. frar g 2. EHTar o

3. ygH=2 Ut 4, FAEIT

feqeng feannerar fed, Trg Sesat

1. sHiea/ifas 2. 10¥tea/Rfés :
3. 15ea/Afds 4, OVitea/PiEs |
0.050 f3t 2 I® & HITTT I 25000 RIS U |
Farge R umardzdr | i
1. 5/4N 2. 52N
3. 5/2Pa 4. 5/4Pa

afee fefarrs
fegst fES faaF e nfewstiga ram e 95|
1. €5 2. I
3. YT 4, STHEE

ﬂﬁm@#ww%faﬁaﬁm
e T AT 957

1. fudtefisar 2. FATHIBIT
3. 9EI3T 4. gfsa
mm?mmm
1. et 2. yrdt
3, Gevils 4, IrtmI e (82

3 fafnt (€9 fan I3 § g & It gerdhot 7

AT IE? |
|. A%ed 2. THEIA
3. g 4, BT

= fafimrt T fags a7 AHUg dE 8 Yiadswd
AUS T57?
1. ufew

3. Yfaggadn

2. &7
4. I



68.

69.

70.

7L

72.

73.

74.

75.

Which of the following is not fossil fuel? 68
1. Coal 2. Petrol .
3. Diesel 4. Wood

Which gas obtamed from natural gas is used in the 69.

preparation of urea fertilizer?

1. Oxygen 2. Methane

3. Hydrogen 4. Nitrogen

| | 70.
Which of the following useful substance is not
prepared from petrochemicals?
1. Polyester 2. Nylon
3. Detergent ’ 4, Jute

. 71

Which of the following fuel on combustion does not
produce flame :
1. Kerosine Oil 2. BumningCandle -
3. Charcoal 4. Petrol
How can we neutralize the effect of bee stmg"
1. Formic Acid :
2. Sodium Hydrogen Carbonate
3. Magnesium Hydroxide ,
4. Calcium oxide 3.
‘The iron pipes we use in our homes to carry water, do
not get rusted due to?
1. LayerofZinc 2. Layerof Copper
3. Waterpipe is notofiron 4. Layer of Aluminium :

' 74.
When baking soda is mixed with lemon juice,
bubbles of which gas is formed?

1. OxygenGas 2. Nitrogen Gas

3. CarbondioxideGas 4. Hydrogen Gas
'BIOLOGY

Which of the following is not paired correctly

1. Chlorophyll . - Photosynthesis 7.

2. Cuscuta : Parasige

3. Mushroom | : Fungi

4. Algae ' :  Heterotrophs

11.

. 3o fofmt i3 froar e B arse st 3

1. BT 2. Igw

3. dlas 4, BASE

yfagaa 97 3 yuz faost 9n & =ad gt
gE@e wet AT AEt

1. o IHHE 2. HEE

3. TISIHS -4, FEIEINSE

%m&%mwmym
&t digraar?

1. urBPAReET 2. 5EBE

3. fgeame 4. UZRS (ge)
ménﬁi‘aa%mwﬂwm‘l‘aa@?

L ifde3w 2. B IS
3. a-ora’ra*'a“w 4. Iew

a‘ls‘té“éaremgf‘ansg*@mﬂxa’i?w |
AEET 37

1. St wiRg

2. A ITEEaHS gEde

3. NS TS T-HaTET
4, AsHM RS '

wgt f&g w3t &t ruzdt et sgg e o8 &9 &t
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76.

71.

78.

79.

- 80.

81.

82.

83.

84.

3. Sodium

3. Nucleus

Which of the element is necessary for the formation

of Haemoglobin ?
1. Flourine 2. Tron

4. Phosphorus

Which of the following soil is required for Lentils
{Masoor) and Pulses?-

1. Clayey soil 2. Loamysoil

-3. Sandy soil 4. ClayeyandSandysc;il
............. +vreesssreenees has small openings (splracles)
on the sides of its body.

1. Pigeon 2. Earthworm

3. Cockroach 4. Leech

Which micro organism causes smut of wheat in
plants?

1. Bacteria 2. Virus
3. Fungi 4. Protozoa
What is the unit of inheritance in living beings?
2. Gene

4. Cell

1. Chromosomes

What is the type of Reproduction in Hydra?
1. Binaryfission
3. Budding

2. Spore formation ..
4. Multiple fission

Where s bile juice stored in the human body?
2. Stomach
4. GallBladder

1.Pancreas
3. Liver

[

Which of the following is not a Kharif crop?

1. Rice 2. Maize
3. Ground Nut . 4, Peas
How does amoeba take its food? '
L. Pseudopc;dia . 2. Vacuole
4. Nucleus

3. Contractile Vacuole .

76.

77.

78.

7.

80.

81,

82.

83.
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85.

86.

87.

88.

89.

99,

91,

92,

Choose the right sequence in the life cj(cle of silk
worm? .

1. Egg—Pupa—Larva—Adult - -- -
2. Egg—» Larva— Pupa — Adult

3. Adult— Egg— Larva—Pupa

4. Adult— Pupa > Larva— Egg

GEOGRAPHY |
Topic of Cancer does not pass through which state?
2. Rajasthan
4, Chattisgarh

1. Manipur
3. Tﬁpura-

From which fundamental rock, the marble is

formed?
1. Diamond 2. Slate
3. Coal

4. Limestone

For the production of which crop, the required
temperature is in the range of 18° Cto 27° C?

1. Coffee 2. Cotton
3, Maize 4, Wheat

The intensity of which is measured on the Richter

‘Scale?
1. Earthquake 2. Air
3. Ocean currents 4. Rainfall

“Sundri Trees’ are found in which of the following

forests? ” _
1. Desertic forests 2. Delta forests

3. Evergreenforests - 4. Mountaineous forests

Bhilai Iron and Stect Industry was established with

the help of which country?
1. Germany 2. England

3. France 4. SovietUnion

The ‘Oolong Tea’ of Taiwan is famous for its :-
1. Colour 2. Length
3. Taste 4. Price

13
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93.

" 1. Relief

94.

95

96.

97.

98.

99.

100.

What type of Rainfall is common in' Equatorial
Region? '

2. Convectional
3. There isnorainfall 4. Cyclonic

Nanda Devi peak is located in which state?

1. Himachal Pradesh 2. Sikkim

3. Uttarakhand 4. Jammu & Kashmir .

Manganese is produced in which state of India?
i. Punjab 2. Rajasthan
3. Haryana 4, Jammu & Kashmir

Which of the following places has the maximum
‘population density’?

. Delhi
3. Lahaul-Spiti

2. Leh-Ladakh -
4. Chandigarh

Which sea/ocean is the largest inarea?
2. Arctic Ocean
4. Atlantic Ocean

1. Indian Ocean
3. Pacific Ocean

HISTORY

Who annexed Punjab to the British Empire in 29
March, 18497 '

1.- Lord Welleselly
3. Lord Dalhousie

2. Lord Carnwallis

In 1774 AD in which city Supreme Court was
founded? ‘

1. -Myéore 2. Surat
3. Delhi . 4, Calcutta
The Shanti Niketan was foundedby...............

" 1. RajaRamMohan Rai

2: Rabindranath Tagore
3. Swami Vivekanand
4. SirSayyidAhmadKhan

4. Lord Warden Hartings

14

93.

94,

%—H’uﬁwﬂafa%wiaéhﬁfamaaawgé’r
) _

1. west 2. ¥afae
3. A TSI IR 4, Jaa=rdt
1. frres e 2. fw
3. €T 4. w3 amflT

9s.

96.

97.

98.

99.

Fagfag e feTiNmia e @aues jerd?
1. IAy 2. IHNES
3. g 4. AywIamie

s fofimit f&F faot A St SR weaTRg =T

G YA _ ;
1. fea 2. ByBEY
3. rds-Afu3t

4. SS9

Yazs & frra &7 fagaT HaaR < 8T 3

1. forervotATae 2, Wrgafed A1ad
3. yETIHIHTIE 4. WOHIAIE
fefaamw
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101.

102.

103.

104.

105,

106.

107.

108

109.

!ndia‘sﬁrstrﬂ'!wwmwm., ............
1. MumbaitoThana 2. Caleuttate Raniganj

3. CalcvttatoPeshavwar 4. DellitoAgm

Satya Sodhek Soctety was founded by.................
l. Dr.BR. Ambedkar 2. PeriyarRatwa Swainy

3. Veeresalingam 4. Jyordoa Pl -

Birsa Munda starwd revoltin.....................
1. Inthehitly eren of Manipur

2. Chivotn Neppwr aten

3. SowdwmerenofRanchi

3. InMeghmieye
RajaRaviVermawss................

1. asocial refermer 2. apaintéf .

3. awriter 4. mneduontionist
When did Lord Dalhousie conguer Sikkim?

1. 1850 2. 189

3. 1857 4. 180

When was Dayatabd Anglo Vedic school
ostablished in Lalvore?

1. 1896 2. 1860

3. 1886

4. 1905

Who was the first Home Minister of India?
1. Pt. Jawahar Lal Nehru

2. Sh.Gulzari Lal Nanda

3. Mahntiv Gaivdhi -

4, Sardar Valiabh Bhai Patel

Wiro esteblivhed Baseds Untversity in 19482
{. RejuRenMohanRai 2. Migharaja Siaji Rac
3. Swami Vivekansida 4. Ravissder NathTagore

Wheve did A ro-Awiis-Con talié place in Indonesia? 7

1. Jekuita 3. Medan
3. Padang 4, Bandug
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4. fwrEd
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104.

105.

106.

107.

4. ey

Ve dx A |

1. WA - 2. fe'ganTe

3. Sur 4, fiffipur aradt
ST 3 T @I Ty it
1. 1850 | 2. 1849

3. 1857 - 4. 1860

w6 G durde g fea ngs ot FeusT a e
J&

1. 1896 2. 1860

3. 1886 4. 1905

eI ygd it SR s ns?

1. ey s afoy
2. fteed s dar
3. WTET R .
4, MY EST IR U2

108, FRETHENRIA @ Aervar fan 3 it 7
1. gFraMiEs e 2 woawr et
3. menft fedande 4, feeamade
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- 1. Fvaat 2. WHETE
3. y@tar - 4. fgar



110.

111,

112.

113.

114.

_ CIVICS
The constitutional manuscﬁpt committee held..........

[ eeeeenneaes conventions.
1. 09 2. 10
311 4. 12

Fundamental Rights are given in the Indian
constitutionunder ..........ccooeeeerererecrinnns

1. Article [4t032 2. Article36to 51

3. Article239t0342 4.Article 301 to 307
The Govemment lawyérs are appointed by...............
1. SHO 2. Lok SabhaMember

_3. Government 4. SSp

Sarva Shiksha Abhiyanis................... cnssssrensrenee
1. to heipthe poorpeople

2. to help the accident victims

3. tosetupNational Human Rights Commission

4. tostop the menace ofilliteracy |

Who is the real administrator of our country?

1. ThePresident

2. The Chief Justice of India

3. ThePrime Minister

115.

116.

4, The Governor

1. The vaerﬁmcnt lawyer.

2. The Chairman of constitutional manuscript
commiitee.

3. Thefirst President of independent India. _

4, The first Prime Minister of independent India.

According to the Section 330 and 332 of our
constitution, a provision has bee made to reserve
seats in Lok Sabha and Rajya Sabha for schedule
case/schedule tribe/ backward class candidates so
that they can be adequately represented. Initially this
provision was made..............o.covervmnnan..
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115.

...........................

1. Mgave 14T 23T 2. nigevleFsiaw
3. MEew23932423FT 4. wEEwI01T3073
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RS EHE A H Ut d= a7
1. eIt
2. TIICHYAF
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117.

118.

119.

120,

121,

1.

only for twenty years 2. only forforty years

3. only forfive years 4. only forten years

UnionofIndiahas.......ccccccvrveevveerenes revnssrensrsesnrerenrern

1.

29 states 7 union territories.

2. 28 states 6 union territories.

3. 22 states 7 union territories.

4. 29 states 6 union territories.

Right to Information means that...........ccecserisssrersne

L.

people have right to take information about any

aspects of the government department which has

- direct orindirect affect on them.

. topersude the people to buy product.
. advertisement should not contain any type of

derogatory references to another- product or
service. :

women education is being stressed.

In Rajya Sabha hour many rﬁembers retire after

every two year?

1. 1/2 members - 2. 2/1 members

3. 1/3 members 4. 3/1 members

India was divided in........ccneeceivcrnncnns

1. 1946 AD 2. 1947AD

3. 1948AD 4. 1949AD
MATHS

Which fraction is represented by the shaded part?

1.

3/2. ' 2. 2/4

3. 4/4 . 4.3/4
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119. g7 RIS Jaa © '8 e f4d Waa faefes &
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121. sfenruifas gare st {9 fai
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122,

123,

124.

125.

3. -m+7

Perinieter Of SQUATE= ..o X
length of side of square.

1.2 ' 25

3.4 4 1/4

While down the algebaig expression for “7 is

subtracted from ~m.”
1. 7<(-m) 2. 7-m

4, -7

The length andblwdth of aroom are 30m and 20m

respt. What will be the ration of length and breadih
ofthe raom?

i. 32
3. 20/50

2, 2:30
4. 25

Whatlsthcnumquufsymmemchnesmthe
following fig.

1. 2 2.1
3.3 4. 4
126. (-8)+....couuuu.... =0 Complete the statetment
1. 8 2.0
3. 10 4, 100
127. 23=46=6/9 = W12 = ............... Complete
theserjes
/ 1. 10/15 2. 12
3.3 4. -1/2
128. What is the additive inverse of ~7/199-
L0 2.-19/7
3. 7/19 4, 19/7

122. ST T x fég

FF S

1.2 ' 2.5

3. 4 4 U4 |
123. “-m ¢ 7w Ruulehash foaes foi |

1. 7-(-m) 2 %m |

3, -m+? 4 -m-7F

124. fés ek o St 30 Mics w3 S 201859
: mma&am?ﬁﬁmé

=g
1. 32 2. 2:30
3. _20/50 4 2:5

125. k@ﬁfwh@méwaww
91

126. (-8)+
1.8
3.10

127. 2/3=4/6=6/9=8/12=........ooooo........ S UF e
1. 10415 2. 12
3. 32 4 -1/2

128, 9T RTRR G
1.0 2 1977
3. 719 41917

18



129, Whatis the solusionof 2x—3="77

130.

131.

132.

133.

134,

L2
7

2 B
4 8

The wieighis (i kig) of 15 sidants of 2 claseane: 35,
42,35,37,45,50,32, 43,43, 4. 36, 38, 44, 38, 45.
Find the mode andsnadianofdele.

1. 38,40 2, 40,38

3. 32,50 4 50,32

In the given figuse; if ZA=IP, AB = AC, CD

bisects ZACR and Bt biseets LARC, then valug of

x andy respectivgly ape:

1. 15%°and 76
3. 10° amgl 160>

2. 2P and 140°
4 20 and125°

Ammbwis@ﬁmﬁﬁgm'@ihw
L 10 2.4
3.2 4. 16

Two numbess ase leas then a nimabes by 3084, and
40% respestively. How mauch pesca is the second

L 35% 2. 36+%

4 1&—?%

By selling: 12 osiges for a rupee a raen lasses 20%.
How mapy for s upee should besall ta.gain 20%?

1. 15 2. 16
3.8 4.5

3. 14%

19

128. 2%—3="7P T Eruh

136.

131.

132,

133.

134.

L 2
3.7

2. 10
45
rewme nmvw{h.#xm)
fe 0% & 39, 42, 35, 37, 45, 58,32, 43, 43,40, 36,

38, 44, 13, 45. wgEw i o |
1. 38,48 2. 46,38
3. 32,50 4. 50,32

W' fge W S LA=100, AR = AC, CD,
ZACR W G W8l BD, ZABC, o 90 J¥
T x Wity P PRET IDET TEINE -

B ‘l e
1. 15°wl7ee 2. 20° e 140°
3. 10° w160 4 20PnR125°

mmw w&M?mwm
oo R W

1. 10
3.2

2. 4
4. 16

2 Mo, NimAler I owe 30% 743 0% 0T
51 . ik e gt s ulowt e 3 S

W'ﬂ!&?

1

1. 35% . 2. 36-5%

3. 14% 4 14—%%

fear pa 3 12 Aray e e nimaid § 20% urer
dor G ivepa I W faPwd 20%
TITRaR

.15 2. 10

3.8 45



135. Ifthe area of thombus is ; X+2X+ 3 WhatISltS 135. ﬁmmmwgram,%_x3+2x+i a-

smallest diagonal. : - o2 :
1 x-2 2. x+2 | 3t fener AT F° Ser feqee faar §&am |
3. x-1 4 x+1 1. x-2 ‘ 2. x+2
o 3. x-1 . 4. x+1
'136. Diagram “~ " represents? | . ' ' | o . ‘
i S - [T 7 ? ) .
L. Ray 2. line 136. f¥'gg“— "fan A G Tar@at i
3. linesegment 4. Angle o 1. fags 2. v
, 3, yiw - 4.8
137. In the given diagram which of the following
represents diagram. . 137, e feefeonmiausrd,
C
B
A
1. OB 2. AC - 1. OB 2. AC
3. 0A ' 4. 0C 3. OA 4. OC.
138. Whichtypeofangie 70°is? 138, T0°Erde faRagterdasdr
1. acuteangle 2. obtuseangle 1. fa@= . 2. offqw
3. reflexangle 4. rightangle ' 3. fagaw 4. M=
139. The distance measured along the boundary of a 139, i eereaenn! fea ﬁ?WfE‘:ﬂé‘ Wg@ﬁ'
closed figure isknown as its......... ecrnereseneinsnnarenas ETE'cﬂ“&l
3. area 4, Diameter . 3. ¥gges - 4. forw
140. Polygonhaving4 sidesisknownas.......................... 140. SO gt BT HgIA oA ..o e
1. Rightangle 2. Triangle - o afasr§ery? | .
3. quadrilateral 4. Pentagon o 1. A8 2. fagw

20 .



ENGLISH

crci

Read the comprehension passage carefully and choose the correct options:-

14t.

142,

143,

144,

145.

George had a toothache. He cried as it was very painful. His father quickly took him to the dentist. Dentist
checked George’s truth and found bad tooth. He told George that the bad tooth had to be pulled out. George was

~ frightened, but the dentist told him not to be afraid. He told him it would not hurt much. The dentist gave George

an injection on the gum. After a while, the dentist pulled the bad tooth out. George was relieved because he feltno
painatall. :

Why was George crying? .
1. hewantedto goto the market? _ 2. hewasfillingsleepy

3. hehadatoothache ’ ' 4. he didn’t want to go to the dentist

What did the doctor say to George about the bad tooth? :
1. itneedsflossing . 2. itneedstobe pulled out
3. itneedsapush ] 4.  itncedstobepressed

What did the doctor gave George to lessen his pain?

1. aninjection , 2 amedicine
3. anantibiotic 4. aspray

Why was George scared when the doctor told him that the tooth had to be pulled out?
I. helovedhisteeth _ 2. itwas his front tooth ‘
3. hewasscared of the pain ' 4, he thought he might loose other teeth

Why did George feel after this bad tooth was taken out?
1. tense ' : 2. happy
3. curious 4. relieved

Q. (146-150) Choose the correct phrasal verb of the underlined word from the give options :-

146,

147.

148.

When will the children return from school ?
1. setup . 2, seeto
3. callfor B 4. - comeback

Our lunch is going to visit us this weekend.

1. seeto 2. - makeup
3. callon 4. look at

The football match was cangelled due to the heavyrain.
1. trnedoff 2. put away

21



3. peledow o “ 4. calledoff

149. Heisverypood.......... N—— reking oo
1. i 2, at
3. dbowt 4
130, He..oiorrrrnen, .. Y8 Hrving by hardwork
1. cems ‘ 2, . wins
3. creases | | 4 ebles

Q.ﬁﬂmmwwm“u

A Hlle git] wWBs .o, (l!)mhhﬂm%mﬁmﬁemm_
RV (mummmmumm Theorowd ............. srsieesmnens ¢13)
mmmnnmwﬂﬁemm mmmmmm ..... . (H¥)to
hisown life.
151, 1. tepped o 2. geited
" 3. imprisoned ' 4. gewed
152. 1. forwand 2. toweads
" 3. backwerd % wpwards
153. 1. showted _ 2. soredwed
3. cheered - 4 eughed
154. 1. pain 2. pride
3 nsk ' 4. fear

22



' PUNJABI.

asmaa #uﬁn@(lss-lssnmee'aafe&l

155,
| 156.
157.
-1158.
159.

160.

Aetas § aeta @ faar wer §i ﬁamémw%mfeﬁnﬁmmwmmm
s fETRg 3 ufost 89w @ adla Miud fer @ avt Ugm &t s | feg 83 @ wrdter o fagt A S S e
ST i | SITSaT 80 AV ufst wirevt & Rerd's wid goin feger Ritwe fo's il 3 s8eem (Sy) w3 Uesw
&% U 13T Inivag gave (S U-Fy IgH & irdlas QUuBEn 93 AldeR Iele @ i §¥ Ta wig fegags
W33 751 feg sretan HaSHs 39t I5, A farerae Fuan fe'e wt fow® 9t 293 /R 951 g5 odlan
Sugnst set wd oY yorEt fe's s e wE1 5 Ts indias Rt SE HEETT I8 W UgRS were R un | few
3B & 5 TEe M3 & ¢ fést fem@e s sreAR A AIeI NIAEI F T A e AlaE @ @I §
Qanrfos aus Bt doH o T 76 | IS ATt § iBeT aR3 i3 IElasT § US 938 Se Heg gt 8
wma:&a*gawmamévmmmmmmmmwamm
niftes Bor g7 difent 1t fogt &8 rrélas faare 3 8 ae o1

fegt <9 re 3 ufost ardta faust vt?

1. Zger 2. ®wazdt

3. worgIwnfsostada 4. RIS TET

S set fargat e AL 37

. TBeeE(FYTS T ’ 2. mmmmmm
3. WUgeRgEld 4, ATOTES gEtE

retaE e 58 faugeTs, fadfa

1. sgIHfidras 2. sfeinA &=

3, TEETIEMETS 4. T Fyghgsdataae

Aetes O w93 5 GIniug 996 s RaT § At ae gad I Ia7

1. TuUSEIFTSH ' _ . 2. AeEstsEwsar S aAs e
3. uRigmrdmeager .4, srfeRRsgdtaasT
mfeafémwafeé*hnmm’r’%?
1. feorfdegradwerd . feoygmeadtemge
3. ferwreAEt ST IWATS S 4. fegwrerAt T AT 3 ARSTATS 3
n‘uw%na?ermm! h -

- HuEargseRTt 2, fefeorsdtRgs AR IS

3. vm?%aaa’ruftﬂ SR 4, Fadrwrerfag?
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